SH: HES
Ha: HUS FOME BUSH(LUNITUT /L)
Sl ASENEESY (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
HEs 236,683 164,517 72,166
NES Foug BoSH(YUIIHT/LBieE) 147,730 76,170 71,560
NEELET-EX- 107,730 46,170 61,560
oy X 31,170 31,170 0
202 OfHl 1,380 1,380 0
01 =LHoiH] 1,380 1,380 0
=204 1,380 1,380 0
OF2 MR HX 0+
60,0002 +3 +22! +35] 1,080
OAZ SIQA&A S 018l 20,0002 +5% *33] 300
01 YprEaz 29,790 29,790 0
05 SX-01F - HIHSBHI 28,290 28,290 0
=0 & 28,290 28,290 0
OO0IZ(EF) JI24Y 200,008 8122 19,200
O0IB(SH) 84012 200,000%! *88 x23| 3,200
OO0IF(EF) soas 2
20,0002 8% +23] * 122 3,840
OBz s 25,0002 *412 x23] 2,050
09 BAAHIEAE 1,500 1,500 0
=04 1,500 1,500 0
OAZDSE, MOIL S BHT 24
10,0002 x258] x33| 750
ONMEX A S H&X 24
10,0002 *258] x33] 750
X2 SHA (21 E 010 4) 60,000 15,000 45,000
101 eIyl 3,367 3,087 330
04 JAHIEXSES 3,367 3,087 330
=04 3,367 3,087 330
O MEemE #Z Wiy 29 JI2H2
2% 24 3,367
-J=3 8,350 %4 Al 24 %22 x50 3,340
— M 3,340,000 +0. 8% 27
206 T2 6,633 1,963 4,670
01 MYl 6,633 1,963 4,670
=004 6,633 1,963 4,670
O ME2H #Z Wiy 22 He 2
6,633, 0002 *14] 6,633
401 AEHILRHE 50,000 0 50,000
01 A&l 50,000 0 50,000
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SHN: HAEE
H: YES FTOME HAZSA (LIS /ABHF)
CHel: MBI e S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
01 Al&dl 30,000 30,000
=0l At 30,000 30,000 0
OMMHAE X2 HHI2AF 10,000,000 *14l 10,000
OAFRR 212 212 1A 20,000,000 14l 20,000
ARD FOISAA (=OIE0 0l A) 10,000 0 10,000
401 Al&H L2 10,000 0 10,000
01 Al&dl 10,000 0 10,000
=0l A 10,000 0 10,000
OLRE ANEANS (20T 3L E=)
10,000, 000 14l 10,000
HYSAAH (MAES)(IIEH/IIE) 88,953 88,347 606
ol gy 21,093 20,487 606
ety 21,093 20,487 606
101 Q12H] 21,093 20,487 606
01 B2 21,093 20,487 606
=20 & 21,093 20,487 606
OAlZt224g 10,2992 «8H x17Al 2hx 122 16,808
Ojt20Y Hanead
10,2992 x2 % x4 A| 2+ x52L 4,285
=23 67,860 67,860 0
Jl23H| 67,860 67,860 0
201 LBt AH| 33,400 33,400 0
01 AR Z2lH 20,400 20,400 0
=0l At 20,400 20,400 0
OZgEH EYH £ 2¢ 150,000 *4CH «33] 1,800
OZet=EAMI| Y2 200,000 x1CH» 122 2,400
OYPREX E204H
8,000 x8H x4 x 122 3,072
O EME =3 ARRE 2
30,0002 x99 « 128 3,240
Oplgal HIXI® A2R=EZ 60,0008 «128 720
M) S Adx2 34,0002 «50H x 128 2,040
OANFEE 842 S HME  120,0008 *123] 1,440
OMZ2E S AMHAY 222 M
200,000 x63 1,200
OFQMHEH S#AEH ARE £ 22
224,000 122 2,688
OFFHMFZX S 2E72 150,000 122 1,800
02 22=29H| 13,000 13,000 0
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H: HHE2LAH(MES)(IIEH/IIE)
Ehelr D123l (=&
x s . 0l &k 2 H = ol ~
SH - BA(BH) - NRAY - BES 1 5 o i BlRE2

= Off & 13,000 13,000 0
ORER3 150,000& =128 1,800
Ostes 50,0003 =128 600
(OFSWIPNE=3=4 550,000& «x12& 6,600
Qo= MEZ 100,000& = 12& 1,200
OZAIA MERZ 200,000& »12& 2,400
OA&EEHl |l 200,000& %23 400

202 Ol 24,300 24,300 0

02 FHOHI 24,300 24,300 0

= Ofl & 24,300 24,300 0
Og M| 225,000 x9H x 128 24,300

203 YR 10,160 10,160 0

01 JI22IHRFAH 7,700 7,700 0

= 0fl & 7,700 7,700 0
OMAESE 7,700,000& »x1H 7,700

02 ZIINLHIFAH 360 360 0

= Off & 360 360 0
A R =8| 40,000& x9H 360

04 ENSILIFAH 2,100 2,100 0

= Off & 2,100 2,100 0
ORNM2ZIHR2F=LHI 175,000& =128 2,100
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